
SPARE PARTS LIST
PAGE 1

MODEL NO. 6226D

ITEM PART NO. DESCRIPTION QTY NOTE
001 125091-1 Fordulatszám-átkapcsoló kar, 1   1
002 183210-5 Motorház*   1

INC. 20
003 853910-8 NAME PLATE 6226D   1
004 266130-9 Önmetszo csavar M3x16*   8
005 911143-2 Trapézfeju csavar M4x22 911143   1
006 232182-2 Laprugó 6096DW/6201DW/621   1
007 416079-5 Eloremenet/hátramenet-átkapcso   1
008 911003-8 Trapézfeju csavar M3x6 911003-   1
009 651989-1 Kapcsoló   1
010 687085-9 Tartó rugós szorítóhoz 68708   1
011 654168-0 Rugós szorító (+) 654168-0   1
012 654169-8 Rugós szorító (-) 654169-8   1
013 251451-2 Trapézfeju csavar M5x22 DA390D   1
014 763132-1 KEYLESS DRILL CHUCK 10   1
015 125087-2 Hajtómu 6096DW   1
016 629785-5 DC-motor 9,6V   1
017 911003-8 Trapézfeju csavar M3x6 911003-   2
018 689092-8 Hoelvezeto lap*   1
019 819063-3 MAKITA címke*   1
020 183210-5 Motorház*   1

INC. 2
A01 414938-7 BATTERY COVER   2
A02 784636-0 +- BIT 2-65   1
A03 824635-1 PLASTIC CARRYING CASE   1
A04 192638-6 BATTERY 9120   2
B01 ***DC1414 DC1414 BATTERY CHARGER   1



SERVICE DRAWING
PAGE 1

MODEL NO. 6226D


